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Rather by liquids which become because of a Sheretz

Overview
The X3 concluded that 7°pwna 1RNLIY 2°95 is in a case where the Ppwn were Xnvl
mw:.l Our Mmo01n discusses the need to establish this 77712 in this manner.

= 07 HNNMN DINAN PPYN VPIND I8N NINT P11 NINT PHNY 12929 99N
The 5''1 says that the X723 could have just as well chosen 2575 nann 29827 PR

(instead of YW nnmn DXAT TPWH)
- (o33 97) D927 99N 7992 175922 9INTI 9N HIVAY %53 DINNVN DN DIV

For they (2>7 niann o°X27 1pwn) too are also N»w» a 92 so the *92 can be %o

7N as the XN»02 states in N1992 NO0 in 23927 YoR PD -
- 29190 N DM T2 INR) DITPY B9V DIIIN PRNY “Nda

w''2 rule, we wash the hands first and then we pour/dilute the cup of wine -
- D191 NN NPV 1IN ‘D31 NN ©IN INNNY PPYN NNV NHNN DN ONY

For if we would dilute the wine first (without 0> n>°v1 [making the o>1° a W
112777), the liquid (wine/water) on the outside of the cup will become Rnu,
because of contact with the 2373, and in turn the liquids will be X»wu» the cup -

mooin replies:
$19299 NON 91 KD 791 1929NT 1IPNYNRY NIV HNN 0ININ DIPYN VP NON

Rather the reason he mentioned y2w n»n» 2°8an Ppwn, to inform us that even
these 2°75 which came in contact with 7"pwn that are Xn*7IKT72 X1, nevertheless the
0°%0 are only 132972 Rav (for pwn cannot be n'"mn 0¥93 K1wR).

" The 7Pwn become a NWRA (the YW is an A8 AR); however N1 a WX cannot be °73(1 07X) ®nwun. Nevertheless
the 727 "> N1 instituted that the 0°%3, which touched the WX pwn become a 1312777 1w and are 712777 72170 S0%9.
* This line is actually a 71wn there on 2,X31. The following line 12 oXw is the explanation of the Xn»1a.

? In those days it was customary to drink a cup of (diluted) wine before the meal (before eating the bread); not only
on naw.The washing of the hands before drinking wine is sufficient (according to w"2) for the bread that is eaten
afterwards.

* oo are N 01 (one of the 127 1"™) and 79NN NYIR PPWAR DR XA TNA DR Y0107 93, therefore when he holds
the wet outside of the cup with his hands, the 7°"pwn will become a 1wX1 and the backside of the cup will become Xnv
from the 7112771 WX PPwn. We see from this 012 that (even) 1pwn which became 07> nann Rnv (which is only a
11397 ARM), can nevertheless be 0> Xnwn. This is even a greater YN than yaw nnnn PRI 1PPwn (which are Xnv
n"nn) can be 0°75 Rxwn. The &3 should have seemingly told us the greater w1n that even 2°7° nnnn PRIT PPwn
(which are Xnv only 112777), nevertheless they too can be 712771 0°25 Xnvn. Additionally since the mwn (cited on 2,3)
states TPWnN WALIY D°9oM 27T, so just like by 79I it is 07> nnnn PPwna (as the X just said), so too 0¥
should also be 7> N PpPWwn1 since the 71wn groups them together. See “Thinking it over’.
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Summary
D77 DA WALIY PPwn are also 13277 0°92 Xnvn. Conversely even WaLIW Ppwn

v w2 (which are n"mn K1) are 2°93 XnuA only 13277

Thinking it over
Are the mM°1a of Wi IRNLIY 2°9297 02922187 considered two M°1a of the 127 11" or

one. If they are considered two mA73, it is understood why they had to be
established in different cases; one by 0’72 WXnwLIw 7Pwn and the other by 7Ppwn
7w W,

5 See omIRN 5" IR M9 237K DX,
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